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1984 1988 1992 1996 2000 2004 2008 2012 2016 2020
Landsat acquisition time

40

20

0

20

40

R
es

id
ua

ls
 (K

)

(b)

(c)
AMD2

0 50
Counts

 = 0.21
 = 5.89

(d)



40

20

0

20

40

LS
T 

(°
C

)

(a)
LT05 (n=167) LE07 (n=231) LC08 (n=111) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.12 K yr 1
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LT05 (n=192) LE07 (n=230) LC08 (n=119) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.17 K yr 1
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1984 1988 1992 1996 2000 2004 2008 2012 2016 2020
Landsat acquisition time

40

20

0

20

40

R
es

id
ua

ls
 (K

)

(b)

(c)
BER2

0 100
Counts

 = 0.11
 = 6.76

(d)



40

20

0

20

40

LS
T 

(°
C

)

(a)
LT05 (n=403) LE07 (n=288) LC08 (n=205) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.15 K yr 1

1984 1988 1992 1996 2000 2004 2008 2012 2016 2020
Landsat acquisition time

40

20

0

20

40

R
es

id
ua

ls
 (K

)

(b)

(c)
BER3

0 100
Counts

 = 0.14
 = 7.05

(d)



40

20

0

20

40

LS
T 

(°
C

)

(a)
LT05 (n=414) LE07 (n=314) LC08 (n=211) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.15 K yr 1
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LT05 (n=363) LE07 (n=290) LC08 (n=210) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.08 K yr 1
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1984 1988 1992 1996 2000 2004 2008 2012 2016 2020
Landsat acquisition time

40

20

0

20

40

R
es

id
ua

ls
 (K

)

(b)

(c)
ELS2

0 50
Counts

 = -0.00
 = 5.98

(d)



40

20

0

20

40

LS
T 

(°
C

)

(a)
LT05 (n=181) LE07 (n=233) LC08 (n=117) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.12 K yr 1
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(a)
LT05 (n=458) LE07 (n=333) LC08 (n=224) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.14 K yr 1
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(a)
LT05 (n=380) LE07 (n=299) LC08 (n=202) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.12 K yr 1
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(a)
LT05 (n=306) LE07 (n=281) LC08 (n=178) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.14 K yr 1
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(a)
LT05 (n=234) LE07 (n=238) LC08 (n=108) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.17 K yr 1
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(a)
LT05 (n=170) LE07 (n=166) LC08 (n=92) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.16 K yr 1
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(a)
LT05 (n=179) LE07 (n=226) LC08 (n=113) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.12 K yr 1
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(a)
LT05 (n=356) LE07 (n=287) LC08 (n=191) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.14 K yr 1
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(a)
LT05 (n=400) LE07 (n=314) LC08 (n=226) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.13 K yr 1
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(a)
LT05 (n=381) LE07 (n=299) LC08 (n=199) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.12 K yr 1
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(a)
LT05 (n=188) LE07 (n=221) LC08 (n=107) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.11 K yr 1
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(a)
LT05 (n=302) LE07 (n=253) LC08 (n=177) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.15 K yr 1
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(a)
LT05 (n=373) LE07 (n=304) LC08 (n=188) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.14 K yr 1
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(a)
LT05 (n=335) LE07 (n=358) LC08 (n=186) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.16 K yr 1
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(a)
LT05 (n=354) LE07 (n=356) LC08 (n=181) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.12 K yr 1
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(a)
LT05 (n=376) LE07 (n=288) LC08 (n=195) additional cloud masking f(t) = b0 + b1t + Acos(2 t ) Trend 0.19 K yr 1
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